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QUESTION 1

In a scenario where the AR provides the local regeneration function, a call fails. During the fault locating process, to
identify the calling and called number information before and after the number change, obtain the debugging information
of the () module. 

A. CCM 

B. Innertrace 

C. sipmsg 

D. dss1 

Correct Answer: A 

 

QUESTION 2

An enterprise has a headquarters, several branches, and totally 1000 employees. To implement the cross-region and
cross-department communication requirement, which of the following deployment modes is the most suitable? 

A. Single-node network 

B. Multi-node centralized network 

C. Multi-node distributed network 

Correct Answer: B 

 

QUESTION 3

If the console access code duplicates with the short and long numbers of a user, when a user dials the console access
code, the call is directly connected to the short or long number. Then, the console services cannot be implemented. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 4

Which of the following components provides the status presence function? 

A. BMU 

B. eServer 

C. MAA 
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D. eSpace Meeting 

Correct Answer: B 

 

QUESTION 5

In a multi-node centralized network, there is a central node with a U1981 deployed, and two branch nodes, one with a
U1911 and the other with a U1960. After a call from SIP user A under U1911 to SIP user B under U1960 is connected,
the path along which the RTP streams are transmitted is (). 

A. U191K->U198K->U1960 

B. U191K->U1960 

C. AB 

D. AU191K->U198K->U1960B 

E. AU198K->B 

Correct Answer: C 

 

QUESTION 6

In the local two-node cluster redundancy scenario, when the U1900 series unified gateway on the active node is faulty,
service servers need to be manually connected to the unified gateway on the standby node. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 7

Which two of the following devices are recommended to be deployed in the DMZ of an enterprise? (Multiple Choice) 

A. U1900 

B. sbc 

C. MAA 

D. eServer 

E. Meeting MS 

Correct Answer: BCE 
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QUESTION 8

Which of the following components do NOT belong to the enterprise communications suite (ECS) in the UC solution?
(Multiple Choice) 

A. U1981 

B. eServer MM 

C. UMS 

D. Meeting MS 

Correct Answer: AD 

 

QUESTION 9

In the eSpace UC solution, when the eSpace Audio Recorder is deployed in a two-node cluster, two or more () can be
deployed. 

A. Recording server 

B. IMP server 

C. Database server 

D. SIP server 

Correct Answer: A 

 

QUESTION 10

The AR router on a branch node is in local regeneration state. When user A on the PSTN dials the long number of user
B on the AR router, the call connection fails. Which of the following measures can be used to troubleshoot the fault?
(Multiple Choice) 

A. Enable another user on the AR router to dial the long number of user 

B. User A dials the long number of another user on the AR router,. 

C. User A dials the short number of user 

D. User B calls user A in the PSTN. 

Correct Answer: ABD 

 

QUESTION 11

Each of the following unified gateways can form a two-node cluster in active/standby mode: U1981, U1980, U1960,
U1911. 
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A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 12

The eServer uses port () to listen on client messages. 

A. 8011 

B. 8081 

C. 5060 

D. 5059 

Correct Answer: A 

 

QUESTION 13

If IP phone linkage is configured by creating a UC account and selecting a number allocation policy to link, a new SIP
number is created simultaneously and bound to the UC number. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 14

In the remote disaster recovery (DR) and local regeneration scenario (without considering registration update), assume
that user A is a SIP user in the central site and user B is a PSTN user outside a branch site, User A calls user B through
the gateway in the branch site. User A and user B are engaged in an ongoing call. At this time, the active device breaks
down due to the central site power outage. Then, the standby device takes over services from the active device. In this
scenario, which of the following statements is CORRECT? 

A. The call between user A and user B will be interrupted. 

B. The call between user A and user B will be interrupted immediately upon power outage and then resumed. 

C. The call between user A and user B is not affected. 

D. User A can initiate new services, for example, placing a call on hold. 

Correct Answer: C 
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QUESTION 15

When the UC service system is faulty, the backup service files can be directly used to recover the system. 

A. TRUE 

B. FALSE 

Correct Answer: B 
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